




Input Output Outcome

10+20-3030 10+20-3+030 Wrong answer

10+20-3030 10+20-30+30 Wrong answer

10+20-3030 10+20-3+0+30 OK



Input What we need to do

+d1d2…dk OK, it’s maximum

-d1d2…dk -d1+d2…dk

IF d2 = 0 -d1+0+d3…dk



string input;

cin >> input;

string res = "";

for (size_t i = 0; i < input.size(); i++) {

res += input[i];

if (input[i] == '-') {

i++;

res += input[i];

i++;

while (i < input.size() && input[i] == '0') {

res += "+0";

i++;

}

if (i < input.size() && input[i] >= '1' && input[i] <= '9') {

res += "+";

}

i--;

}

}

cout << res << endl;
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